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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-VI « EXAMINATION — WINTER - 2016

Subject Name: Chemical Engineering Plant Economics

Time: 10:30 am - 01:00 pm

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. E2HIl SlEUBRL Alcloll clled WL
What is Optimization?

ANZHISAUA 212d 9?

What is Break Even Point?

6l A Uiz 9 97

What do you mean by Salvage value and scrap value?
A, GlaUR [5HA 24 ciouR [5Hd 212l 9 AHSYL 91?2

What is Depreciation?

WAHEA 9 97

Write types of flow diagrams

AL SPAAMH AL USIR QW

What is specification sheet?

slsa usts 9 97

List out various method of plant layout

wlez doiGeedl [Afas ugaldidl 1Ll otdldl.

List out component of total product cost

58 Geuled vzl 9zsidl A2l otdidl.

List out methods of profitability

5151251 <l uEAAl2AIAL A1E]L o1l

List out factor affecting plant location
iz dlssldd 21U 5241 Ul 21El oiial.

“It is advisable to select standard equipment wherever possible”-Justify.
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Discuss batch processing with example
BelszBlL U2 6y ulsaidl 2l sl
Discuss principles of piping layout
yd[Uol duiBedl Ragaidicdl 22l sl

OR
Discuss continuous processing with example

BeleBL U2 (242 Ul 22l 52l

State types of cost indexes

ol5-Oae, ALSAl A1 53

OR
Discuss Break-even chart
Explain any one cost index
516 UL Bis 5122 HedsH UHMAL

OR

Explain methods of plant layout.

Iz doiiG2nee UzH[AVU UHMA €.

What is Pilot plant ?
YIHAIZ iz 224 9?

OR
Discuss types of insulation.
Dol UsiAl 2L 530,
Discuss about causes of depreciation
AHEA L 51200 (A2 2] 521,

OR

Discuss pipe strength and wall thickness.

YISUAL HoroLdlS wie [2ala 8154l 2L 530,

Describe process evolution stages and their importance
Ul5AL Gesilddl doisst 2id dHell Hed o Al 520

OR
Discuss methods for determining depreciation.
A 55l 5291 HI2 ughlaiiedl 2l 52
Write a short note on various types of flow diagrams.
(A28 U512 SEL SPUAM YR 251 <A Qvil
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Write a short note on Working capital investment
sUs1EL HEL 2110 uR 251 iA @vil

Discuss Chemical engineering design
s[usa Doyl ol 22l 521

OR

Discuss Plant design and its relation to sales.

-

Wefle2 (34185 2Aed dell AL U1 Aoiadl 2] 52

Discuss technical factors to be considered in plant design
iz Elad Hi2 2slasa uloidl 21 sl

OR

Write a short note on specification sheets
[Afae (Aadad sas [N Zsia

Describe analytical procedure for determining optimum condition with two

variables.

<

ol Al Y12 HeH [R2fd 458l s2a1 w2 [Aedupicts wlku ad ©

The annual direct production cost for a plant operating at 70% capacity
are Rs. 2,80.000, while the sum of the annual fixed charges, overhead
costs and general expanses are Rs. 2,00,000. What is the break-even
point in unit of production per year if total annual sales are Rs.
5,60,000 and the product sales at Rs. 40 per unit? What are the

annual gross earnings for this plant at 100% capacity?

70% 592l Uz 511 51 5341 @iz <l adls 2dlAL Geuled vwA 280000 34l 9.
ol Al glsu v, BUAGS WAL AL 214 WAL 200000 34l 9. syl
BURlsd GUsy <l %<lz 22 40 3ulu i 42 ails daue <l s 254 560000 i
dl 65 S U2 4edlz Al Geuleddl vetiui apll. o5l iz <l U2l 100% 2
AL anils i sHwll s2ell an?
OR

The original cost of property is Rs. 30000 and it is depreciated by 6% sinking
fund method. What is the annual depreciation charge if the book value of

property after 10 years is the same as if it had been depreciated at Rs. 2500
per year by Straight line method?

3. 30000 YU [5ud 4R1ad] Hlasdd =% dl5T 58 ughld el san@id 2 .
osl 10 Al ugl i Hlasddl oy dey vid 2uc0o 3. Udl Al £ w22 Al

-

YL 2l Al AAHEAA AL 045 A€ U0 AdL SIA AL, A5 BAeHEAA 22 AL
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The following equation shows the effect of the variables X and Y on total
cost for a particular operation,
C; = 2.5X + 12500 + 1.75Y +10
XY
Determine :
1. Optimum values of X and Y

2. Minimum total cost
{12 2als 215 AlssA (Bl sa (51 HIZ 215 ot A <l 24282 a0 9.
Hl2l = 2.5x + 12500 + + 1.75Y +10
XY
A5l 530 - (1) 25 2t A Al S2a [SHd
(2) aydH 5@ [54d
OR

The fixed cost of insulation for a steam pipe per meter of pipe is Rs. (40X+80) per
year and the cost of heat loss from the pipe per meter of pipe is Rs. 200/X per year,
where X is the thickness of insulation in cm. Find the optimum thickness of
insulation. Also find the total cost of pipe at this thickness.

R al@stell AR Buct 3. (¥oX+¢0) uld ad B ual a@slelt yds e
€l Gul ol (BHd 3. 200/ X Ul ayl B, »ul XA clles el sty dlat
Al Acles ctRell sredH sty . L sl UR ol@stell et Bud uel 0
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